EARAZROREIERT — 2 N—XBISY —F 201259898 (H) 4EI9L2H

Il LE7 10005T voR3KE (BE) (B w8 T
[A&4] 1 7 14,000,000 § 2 7% :5,600,000 33 :3,500,000 4 3% :2,100,000 § 5 7 : 1,400,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N KHER :53. -12-12- . - BRFeEL (ER
2l =y A o4 e 1(5_3)8 12-12-12-10 37.9 6 (4&0) e
LA=JXL X140 Bhi=y/vA X FiiiEses]
o= o = Bl PG| : —4-5- = 2fREEL (EH)
) a| KT TAF H o5 57.07— 1(.;5/%9 4-4-5-4 | 38.8 11 (4_826) EEE%EEK
Z:€r/07Oo4 B:FAI¥LACX FRESS
- o4 | BRIES 1:54.0 4-4-5-4 [38.9| — 2 470 | FHEBX (EH)
31l K/ pTR—1 g 57.0 i o) | ) 2-teTms
XD ThANAN B:V15— b 11— NETHS
NIFLa—so74 # 3 gﬁ?%*ﬂlz 1(:;3;2.)1 1-1-1-1139.3| — | 1 | 484 ggfg (=)
LA vavE—F— B:TTIFA b AR5 s
PR :54. —-7-8- . — EKER (i
4T LR 4 3 o 1(15/42>2 7-7-8-7 |38.8 4 ;1+326) e
LAY v NG 4= BRATYLTR-F BEZ &Y K
_ R AR :54. —9-0- 4| - HwAE (5H)
FIATEI L= S gy | e el o | v | (mremew
L:viNygLhTr BE—UI T4 #HET77—L4
: 4 6 | REER 1:54.5 12-13-13-13| 38.5 | — 7 476 | HEIRED (SEH)
NYy=/s74219 K1) [B] 57.0 (3/4) (e |BBEHE
L:d—IK7Ya—-b B:YvX3I2TY-X palrae]
S 4 4 | AUUETR 1:54.8 1-11-11-10{ 39.1 | — 3 484 | /RS (M)
811 Syt 57.0 (1 3/4) (-14) | FIEER
L:a=/XLLy b B:I-HFUT J =B RT A
s . HEHA . —15-16— - #HET (FER)
N . 4| ER R e R R e
R:TSAT7LX84L B:939/4HFRS Etrzie]
N 5| HfE— .54, _14-a- . — HAKEEF (3Ei/)
10lsl10l 717 78— [B] #H 5 e 1(15/42;) 14-14-8-10 | 39.6 15 (4_988) é}?llﬂﬂ
L:TUHA XTI R B:vv b4 07— =Eictae
= HIDEE : 00— — NEXZ (E#)
» 1o @EILI>F/N— i 5 o3 175?:? 2-2-2-2 | 40.0 8 (4&0) st
:d—IRAaqMO— B:tra-7>rvz0 LIS PN
O 4 3 | WEEE 1:55.0 9-9-2-4 | 40.1| — 9 502 | AR (5EiH)
12/ 7114| 71 AT v — [B] 54.0 1/2) (-gy |HimRockRacineg
R:d—WK7Ya— B:ETLZR J—HTp—L
N . FLEBAIT :55. —-7-8- . — KEHR— (ERH
13159 | /S—> 5 e 1(525)3 7-7-8-7 | 39.9 10 (4&6) s
RNTIWALT7zA—- B:AL—FYYIL B B
. KEFHRAR : —6-5— - S
141815 sy KX 42— 4 5 e 1(.15/52.>4 6-6-5-7 | 40.3 12 (5+2;) el
RiXTHANAN B:RFRE— BT 7 —L4
. 4 7 | AHES 1:56.1 16-16-15-14| 39.9 | — 13 180 | BEEE (EH)
Eﬂ g|vT1>7 55.0 @ (16) | PIBE™
LIFUNTRIAY BIASLFAU— TIAML—Z2 T —
< HPBE : -10-13- — FEEME (EH)
16lalisl@trHrIHT i 5 2 1.(5‘8.8 9-10-13-16 | 40.8 14 tz;z i
L:2v2Y3AY BEI4HYIXLZ LIS
@ 71 L
) 51.6-39.0
NA> 24 L | 12.6-11.6-12.4-12.9-12.7-12.6-12.6-13.0-13.4
@ 11— S —EBlIEfL
13=3r= (¥7,11,12) (2,3)15(5,9)-(14,16) 1(4,13)-10-6-8
20—+ — (x7,11,12)-(2,3)15(5,9)-14,16,1,13,4,10-6-8
Gol=5r= (x7,11,12,14) (2,3,15) (5,9,10)1,13(4,16)8,6
40—+— |[7(11,12)(2,3,14) (5,9,15) (1,10,13)4-(6,8) 16
[ N3
H OB 13 1,360 714K 3-13 5,030 7 E 2-7 3,800 JEHE 2-3-13 21,2704
8 B 13 350M 2-13 870M B = 3-13 23,300 B 13-3-2 209,250/
3 870M 2-3 1,801 | | B B 13-3 43,840
2 150/

ABICOVWTRDTEEERROODE. TR LIV,



